AP B2 ER %18

R ERFTESY A 511~ 123 T4t RET
U e T T I j‘é”:* an | =
513 -3 -1 -1 0 5 75.0 3
523 -17 0 -2 0 19 | 61.0 7
533 -32 0 0 0 25 | 55.0 8
543 -4 0 -1 0 5 75.0 3
5—53 -15 0 -3 0 18 | 62.0 6
=—631 -3 0 -2 0 5 75.0 3
573 0 0 -1 0 -1 79.0 1
=—8it -3 0 -1 0 -4 76.0 2
5131 -24 1.8 -16 0 -38.2 | 41.8 8
5211 -30 1.8 -2 0 -25.2 | 54.8 3
53 -56 0.8 -11 0 -35.2 | 448 7
54t -30 1.8 -3 0 -26.2 | 53.8 4
=5 -26 0.8 -6.3 0 -30.5 | 49.5 5
=63 -39 -1.2 -5 -0.3 -31.29| 48.7 6
5_7i -10 0.9 0 0 9.1 | 709 2
=_8i -2 0 0 0 -2 78.0 1
5=13 -12 0 0 0 -12 | 68.0 3
==24 -15 -1 0 0 -16 | 64.0 4
==34 -74 -1 0 0 -26 | 54.0 6
5 =43 -24 -1 -16 0 -41 | 39.0 8
= =5 -17 0 -2 0 -19 | 61.0 5
==63 -34 -1 -7 0 -33 | 47.0 7
a=7H -1 0 0 0 -1 79.0 1
==811 -2 0 0 0 -2 78.0 2
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B — 131 0 1.2 0 0 1.2 | 81.2 1
B —23F 0 1.2 -2 0 0.8 | 79.2 3
B —3%F 0 1.2 -2 0 0.8 | 79.2 3
B —41 -1 1.2 -1 0 0.8 | 79.2 3
B —531 0 0.2 0 0 0.2 | 80.2 2
Bl —63t -1 1.2 -1 0 0.8 | 79.2 3
B 131 0 0.6 0 0 0.6 | 80.6 1
B 231 -1 0.6 0 0 04 | 79.6 2
B 331 -1 0.6 -1 0 1.4 | 78.6 3
B 43 -2 0.6 -43 0 -26.4 | 53.6 7
B 531 0 -1.4 -11 0 -12.4 | 67.6 5
B 631t 0 -0.4 -10 0 -10.4 | 69.6 4
B 731 -3 -1.4 -14 0 -18.4 | 61.6 6
B =11 0 3 -1 0 2 82.0 2
Bl =231 -8 1.4 0 0 -6.6 | 73.4 5
B =33 -1 -0.6 -28 0 -26.6 | 53.4 7
Bl =431 -11 -0.5 -5 0 -16.5 | 635 6
Bl =531 0 -1.4 -1 0 -2.4 | 77.6 3
Bl =63 -3 0.5 -4 0 -6.5 | 73.5 4
=731 0 3 0 0 3 83.0 1
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